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& B FFIER EF 54 50 104 37.0 67.0 400
B NTTI 3 45 40 85 16.0 69.0 300
3L BrIER {2 —ER 50 48 98 29.0 69.0 200
X v HE BA 44 42 86 14.0 72.0 100
541 BR BH 44 43 87 15.0 72.0 100
613 A = a7 43 90 18.0 72.0
741 Tl Eth 47 40 87 14.0 73.0 90
841 fBlR HE 45 44 89 16.0 73.0
2 ik —# 44 a7 91 18.0 73.0
104iz FE Z=UER a7 49 96 23.0 73.0 75
114 KA Bt 50 41 91 17.0 74.0
1241 IR ExxX 52 46 98 24.0 74.0
1341 KA #H— 48 47 95 21.0 74.0
144 XfE 42 48 90 16.0 74.0
154 BIER R 51 51 102 28.0 74.0
1641 i RE 48 41 89 14.0 75.0
1741 EX X8 49 42 91 15.0 76.0
1841 [REH #H5 48 43 91 15.0 76.0
194 A0 #@Bx 52 47 99 23.0 76.0
2011 HE 50 43 93 16.0 77.0 60
2141 NI ) 51 47 98 21.0 77.0
22131 ER A& 54 52 106 29.0 77.0
23431 #O —=if 53 42 95 17.0 78.0
2441 RE EE 48 45 93 15.0 78.0
25431 JNIA = 48 49 97 19.0 78.0
2641 &k EIE 45 48 93 14.0 79.0
2741 A EE 48 49 97 18.0 79.0
281 XS FEE 44 50 94 15.0 79.0
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294z —B Eia 48 56 104 25.0 79.0
301iz £k BB 53 46 99 19.0 80.0 60
3141 x5 ®HE 49 46 95 15.0 80.0
324 all & 49 48 97 17.0 80.0
331 M2 F— 49 51 100 20.0 80.0
3441 ELt ®H&HEF 53 57 110 29.0 81.0
3541 s Eh 58 56 114 30.0 84.0
3611 #=HF B 53 53 106 18.0 88.0
BBE WmE A& 59 53 112 18.0 94.0 90
381 R FE 56 60 116 15.0 101.0
AHEBIL RI 1§87 53 50 103 36.0 67.0




